= a
N = 0 &8 AF S & Al A
201MEE 20a B3I H A&80 ~ A& 10
A AL
MM JARENL(ZELXAML/KSLSAl)
CHe: X SoH (&te @2
i} _ bolEN=
2N -3 - c2(3H) - NEME - HES 0] At oH Omncm Hns2
AHa 36,679,733 26,197,031 10,482,702
= 3,600
2 10,845,872
p 583,000
[= 3,026,821
Al 22,220,440
NARENL (2ELX ML /RS LUZA) 5,853,700 5,266,500 587,200
[= 310,000
Al 5,543,700
Xl e 5,853,700 5,266,500 587,200
[ 310,000
Al 5,543,700
FOI=S ALY 4,963,700 3,801,500 1,162,200
201 LBt Y] 3,700 1,500 2,200
01 AFR2t2/H] 1,500 1,500 0
OSHESFT0=2AASSHHB2LH (SF
20, Z2HEY) 1,500,000& * 14l 1,500
02 222ZH| 2,200 0 2,200
OZJ| 422 =892 HotEa HIA2S(
RS, ARLEIAESOIE X AIA)
100,000 * 12% 1,200
OEJ| +He =492 "2 22X Al
22 1,000,000 = 14 1,000
401 Al&H LS 4,960,000 3,800,000 1,160,000
01 Al&H] 4,919,482 3,767,600 1,151,882
OARE FO=RAALS
45,000,000 * 8004 * 99.1/100 3,567,600
OARD Z=QIXAALY 4,000,000 * 5000 A 200,000
OAFRBAES (2N, 2D HHS2) 222
bl 10,000,000 * 2070 A 200,000
OLRAEAMNE sH=FALY
18,000,0002 * 11JHA » 99.1/100 196,218
OEJIS 2o MUET2 HEZA
1,800,000 * 300m * 99.1/100 535, 140
O=d HOEY ZIHXE F
6,000,0002 * 4= 24,000
O=go2 HOOE =Y RYU(XD} 3s
A 2 58) 6,000,0002 = 3= 18,000
O=d HOIEY SUHAIEZA
30,000,000 = {14l 30,000
ONES ZS0I2 YRS EZA}
800,0002 * 100m * 99.1/100 79,280
O=28d HEel HENI Y A0 S 84X
Ab 70,000,000 * 1Al « 98 92/100 69,244
03 Al&=2CHHI 40,518 32,400 8,118




A AL
FH: NAZEMNL(SEL AL /XS

He
H
=

chel: X Hg (el &2
_ _ _ Muo
SN B SRA(SIH) - MBAY - BAS 0l &k 24 e HlnE2
0272 FUSAANY
45,000,002 * 80JH4 * 0.9/100 32,400
O2RSAE SoH=ZTAY
18,000,0002! * 11942 * 0.9/100 1,782
OZJIg +82l ANYSE HETH
1,800,0002 * 300n * 0.9/100 4,860
ONES BSOS FYRHT DA
800,0002! * 100m * 0.9/100 720
O=80 HE2 HEDSY ATBS XA
70,000,002 * 141 * 1.08/100 756
MOFS B %2 A () 220,000 220,000 0
= 110,000
Al 110,000
401 AlZHIL 2T 220,000 220,000 0
= 110,000
Al 110,000
01 Al 217,624 217,840 ~216
OUNIHAQYR NAT2 HMEWZBA
300,0002 * 200m * 98.92/100 59,352
= 30,000
Al 29,352

OJtEg1s28 7184 sZFHISA

300,000 * 100m * 98.92/100 29,676
S 15,000
Al 14,676

O3JIs=1cl 4 s EZHSA

200,0008 * 200m * 98.92/100 39,568
= 20,000
Al 19,568
OAFH MEH22| ANB S2EIFBA
200,0002 * 150m * 98.92/100 29,676
= 15,000
Al 14,676
O=29 W=22l Male S2EFHIA
200,0008 * 150m * 98.92/100 29,676
= 15,000
Al 14,676
OS24 &2 52TFBA
200,0008 * 150m * 98.92/100 29,676
= 15,000
Al 14,676
03 Al& S OHY| 2,376 2,160 216
ONTHARUATAT 2 HENSZ A
300,0008 * 200m * 1.08/100 648
OJE1528 PS4 S2IHITA
300,0008 * 100m * 1.08/100 324
OZJI8 312l Y& S2EIBA
200,0008 * 200m * 1.08/100 432




SA AL
M3 NE RN (FELTIS N /TS LTA)
el TSN (el a2
SN C(BH) - NRAY - HES O] &k o8 Soe HlmE2
OotEH MEze| a2 ZE3A
200,000& = 150m = 1.08/100 324
Oz=sH W=2el Mdis s2EEIA
200,000& * 150m = 1.08/100 324
0240 82 52 ZETA
200,000& * 150m = 1.08/100 324
A2SATHAMNS(Z) 670,000 0 670,000
= 200,000
Al 470,000
401 A &HIL 2048 670,000 0 670,000
= 200,000
Al 470,000
01 A&l 665,779 0 665,779
ORAD Yl ARATLAIY
134,000& = 5,000m * 99.37/100 665,779
= 200,000
Al 465,779
03 Al 20| 4,221 0 4,221
Of4H giic 23JAXZHEALE
134,000& * 5,000m" * 0.63/100 4,221
2 A2 (+SLNE/EZ) 13,530, 103 9,431,320 4,098,783
= 575,000
< 1,150,000
Al 11,805, 103
NE 2 SHEZZ A 13,187,303 9,118,976 4,068,327
= 575,000
= 1,150,000
Al 11,462,303
T 23| 7,898,167 5,000, 362 2,897,805
201 Let243d| 6,530 87,362 A80,832
01 AtE222/Hl 6,530 7,470 A 940
OFzZAN88E SAIXA 2002 = 5,0000H 1,000
OXGt=2tE HAl oI 1002 = 50004 * 5& 250
OELR S2UMH (oS, Hd2ENS,
ANot+=Ug S) 70,000& = 200 * 63l 840
OS2 AES (2] ~ SHa2t £2) 2,220
—A3 FA&Y 70,0003 * 69 * 33| 1,260
—AMNEYAE 30,000& » 6% * 32| 540
— AR A MY 70,000& * 2% * 33 420
ORMEIT(OIE ~ MUY £2) 2,220
—233 FAE 70,000& * 6% * 33 1,260
— At A A=Y 30,000& * 69 * 33| 540
-3 AN 70,000& » 2% * 38| 420
401 AM&HIL 2048 7,891,637 4,910,000 2,981,637




SA AL
M 2 RN (+5LDE/ER)
&t AME 2 SHEEZ AY (H:H2)
SN HB G (BH) - MRAY - BES 0l & e Hlm= 2
01 Al&HI 7,863,020 4,890,700 2,972,320
OSSRz 5 XZAIA (HH) 596,400
— Al£H] 1,000,000& * 600m * 99.4/100 596,400
ZEANSAEZ(XYTI3B3) 8IS A
H =) 100,000
—EXIf bl 50,000& * 2,000m 100,000
O (el=2025) & ZHBAHAHS) 228,620
—EXI0f bl
30,000& * 1,000m" = 99.4/100 29,820
— A€ H| 800,000& * 250m * 99.4/100 198,800
OHSE2(=E3015) & . ZHSAH(HS) 250,000
—E X0 bl 40,000& = 6,250m 250,000
OO WINHM S AHAHZ) 646,100
— A&l
10,000,000& * W& 65m * 99.4/100 646, 100
OLA~HRATZ 5 ZEHZAH(AT) 200,000
—&E X042 bl 20,000& * 5,000m 100,000
— A&l 800,000& * 125m 100,000
Ot INHBAHH ) 795,800
—EXI0f bl 20,000& * 5,000m 100,000
— Al &l 14,000,000 * 50m * 99.4/100 695,800
Oxds L8EZ & ZTHESAHAS) 248,500
—&E X042 bl
50,000& * 3,000m = 99.4/100 149,100
— Al & H| 1,000,000& * 100m * 99.4/100 99,400
OLA~SLTZ(21T2095) & ZHSAHHSH) 99,400
— Al & | 500,000& * 200m * 99.4/100 99,400
OES~EXLZ & ZEHSAHAS) 298,200
— Al&HI 800,000& * 375m * 99.4/100 298,200
ORIRAAET] MU ZEHZAHA ) 300,000
— & AIE A 40,000,000& * 1A 40,000
—E X042 bl 16,000& * 16,250m 260,000
O=ER3(IE~4Y) S2E I (HSAY) 4,000,000
—EXMHLEI(EX 24
4,000,000,000& * 14 4,000,000
O 22U E2EY 028X 24|
20,000& * 5,000m 100,000
03 Al 2 0HY| 28,617 19,300 9,317
OSSEBEE o BRBA(HS) 3,600
—AIZ20iHl 1,000,000 * 600m * 0.6/10 3,600
ONNE2(2lE2025) & ZEHIAHAS) 1,380
—ANE2UHI(EX)
30,0002 = 1,000m = 0.6/100 180
—AlE 20| 800,000& * 250m * 0.6/100 1,200
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S AL
Hm: C2 oXB(+aUDE/C2)
G2 AT 2 SHEEZZ ALY (Gt &)
SH-EH . O3 - MBAY - BAS 0f Ao Soe HRZ2
OAENW MNMEAH(AHZS) 3,900
— A& =]
10,000,000& *~ W& 65m = 0.6/100 3,900
oMW JHMZAHHZS) 4,200
— A& E20HHl 14,000,000 * 50m * 0.6/100 4,200
OXYUE LS8HE2 & IEIAHAD) 1,500
— A2 (EX)
50,000& = 3,000m * 0.6/100 900
— A& E20HHl 1,000,000& = 100m * 0.6/100 600
OQH-SUT2(252005) & TEBAH(HZ) 600
— A& 20| 500,000 & * 200m * 0.6/100 600
OEHS~ZSELTZ & ZHZAHAS) 1,800
— A& 20| 800,000 = 375m * 0.6/100 1,800
OQEtRAMA X M2 ZEBAHA ) 1,637
— A& 20l 1,637,000& * 14! 1,637
O2E23(I1E-H) T2 T (A AIY)
10,000,000& * 14! 10,000
£2 |X2s 1,839,136 868,614 970,522
101 ol 24| 8,400 8,400 0
04 JIZHMIZ2=ZANAsSE s 8,400 8,400 0
QUEHEXAI 212
35,000& * 3 * 40004 x 29 8,400
201 Lty 428,550 357,754 70,796
01 AtR2relt| 2,040 2,040 0
OsEHE TN P 2,040
~HFEEM Q ALBALKE
50,000& = 123l 600
— A& X AHEHDHE 20,000 * 53 = 12& 1,200
—HEEHAFE 20,000 = 1& = 128 240
02 S=294| 426,510 355,714 70,796
O&IIANEZ 292,320
—JlEes 5,300& * 1,500 * 12& 95,400
—Bots 5,300& * 2,700 * 12& 171,720
-z 3 JI2RE HIIRSB
300,000& = 12& 3,600
—XotAHE XEs M2
1,000,000& * 12& 12,000
—S&3W HFEIDZY 2aH2AIE M3
300,000& = 12& 3,600
—sS8XoANE XA MRS
200,000& = 12& 2,400
—AMIFXotE XA HIRS
300,000& * 1A = 12& 3,600
OH&zD AIES 4,160




fA AL
o
7T
aQ

ESEIR 5; N2e|(+=s5Hns/E2)
SR A € SHEZZE AY
S HE - S(EH) - NRAY - BES 01l &k o e
—MIIANEZ 100,000& = 12& 1,200
—dot=E=2 30,000& * 12& 360
—dexEHA 50,000& * 43| 200
—201ddl AE= 200,000& = 123 2,400
OEZ2E3 o4 Hety| 1,600
—=5U 1,500& = 10£ = 100 1,500
— =Xl 100,000& = 14 100
O&Z22[&Hl |XH| 6,725
— A& 400,000 * 3CH = 1/5 240
— M4l 50,000,000& = 3CH = 2/100 3,000
— e e EI|g| 300,000 * 3CH 900
—E22 3| 100,000& * 53 500
— A=l 30,000,000& = 1CH = 2/100 600
—ot401 RE
1,650% = 104 » 302 = 3CH 1,485
O I |l 34,740
—=24D[(02L49213, 0.7m, 50| 4}) 19,250
S 1,500& * 104 * 5AI2+ = 150 11,250
- =2l 5,000,000& * 14! 5,000
- EOI O 2 Al 300,000& = 1074 * 13 3,000
— 2 AD|(02L49216, 0.2m, 50 4) 10,450
.88
1,500% * 3.7774 = 5AI2+ = 150 4,250
=2/l 5,000,000& = 14 5,000
EHOI O 1 Al 300,000& = 404 = 13l 1,200
—ASEH(MSII0A, 0.7€) 1,125
== 1,500& » 24 » 6AI2H » 50 900
=2/l 4,500,000% * 1CH * 5/100 225
—WHII(ESA) 1,040
=&
1,500& = 24 = 6AI2F = 10H = 30 540
- =2l 500,000& = 1CH = 14! 500
—OWIHDII (A=A 2,875
2=
1,650% = 14 = 6AI2H = 502 * 504 2,475
- =2/l 100,000& = 4CH 400
OgZEd Xtx 7l 44,340
— ==
1,5002 * 134 = 6AI2F = 90 * 30K 31,590
— =2/l 1,000,000& * 3CH 3,000
—EFOIf XMl 300,000 = 504 = 3CH = 12 4,500
— AL REOIN A
350,000 * 501 * 3CH * 13 5,250
OFEAXE Rl 42,625




fA AL
o
7T
aQ

=
H: 2
[ —
-4

+5UDE/TR)
SR Al 2 SHEZZ AIY (¢t &
SN (B) - MBEAY - B2 0f Ao Soe HRZ2
—S=0 28,125
— =2/ 500,000& = 1CH 500
— B 2 Xl 500,000& = 5J0 = 1CH 2,500
— AL RE0I 500,000& = 5 = 1CH 2,500
—E-524 300,000& = 109H 3,000
—AOIEBE {4 150,000& = 404 6,000
206 T2l 120,286 58,960 61,326
01 M=Hl 120,286 58,960 61,326
Okz8E+2 M7 37,500
— 3= 13,000& * 1,000% 13,000
—HH4=2+(1,000 — 600mm) 150,000& = 702 10,500
— BB APPEE CH 200& * 20,000& 4,000
— s 10,000& * 1,000%& 10,000
Oz 2128+ HIYEF P2 10,686
—& 5 98 7,000& * 9 * 1004 630
— BHAFA (D1000) 300,000& = 304 9,000
-8z A2 5503 * 1000 =128 * 169 1,056
Ol XNNE TMsE =532 8,200
—HIoE 10,000& = 10090 * 74 7,000
—S2g 1,000& * 200JHA * 6kg 1,200
Owg H2t=M =2 70,0008 = 300 * 502~ 1,050
Okz 2328+8 &AM 7 17,850
—dlal= 60,000& = 100m’ 6,000
—0otA 2 50,000 = 200& 10,000
—AHE 4,000& * 200 800
-8 2%} 35,000& = 302 1,050
OQEHE=E MAI(2doIH)MNY 2
300,000& = 804 24,000
ORaE)E HIUESHEX 2
8,000,000& * 1JH 8,000
OFZag)] 2 13,000,000& * 14 13,000
305 Hia2S 1,100 0 1,100
01 HH&a2s 1,100 0 1,100
O BY0IS3(A=s)X2 1,100
—ANE2=2 XY 22009014804 CH -+ X &4
2 ot= XI&2009JFEH5032 1,100,000 * 14) 1,100
401 AlEHIZLL20] 1,168,300 443,500 724,800
01 Al&H| 1,150,900 427,500 723,400
OANE . sHETSZAH B=2A 99,400
— A& | 200,000& * 500m * 99.4/100 99,400
OANE.sHEZZEFR HHIZ2AH 99,400
— Al &t 200,000 * 500m * 99.4/100 99,400
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SN AL
o
7T
aQ

ESEIR ca N2el(+=S5LnS/=2)
&t AME 2 SHEEZ AY
SA BB CR(SH) - NRAY - A S Ol o e
0 4 o
OAIJX ZETM RT3 A 149,100
— A&l 1,000,000& * 150a * 99.4/100 149,100
OQuSoHEAIE Al ¥ B 80,000
— A€ H| 80,000,000& » 14 80,000
ONUHUNHNE B 45,000
— Al &H| 5,000,000& * 9JH & 45,000
ONE . sHEEZZ W=s2XE 4R 29,600
— A&l 800,000& * 3772 29,600
O3 LHMMSA 90,000
— A€ H] 45,000,000 * 2002 90,000
OSEH 2 =2 (HZ1015) HUIS A 36,000
—Al&H| 800,000& * 45m 36,000
O&IMEE FHBISAL 80,000
— A&l 400,000& * 200m 80,000
OBAE(BZ4+3) (553053) T2 IS A 50,000
— Al £ H] 500,000& * 100m 50,000
OS2 EX= | 90,000
— A&t 5,000,000& = 187H 90,000
OLSANESMALEXN(EBESN, THEANY,
ASdAHE SLdZelS3HE ,PEIRSCE)
100,000,000& * 14 100,000
OJt2s =82 HHSAM 20,000
— A&l 2,000,000 * 1090 20,000
OJI2S tdEZE RREAANLMA 25,000
— Al & | 250,000& * 10094 2 25,000
OXzs &I 0 21,000
— A& HI 70,000& * 300 21,000
Oitzs 2ets slE=+ 22,500
— A&l 75,000& * 300 22,500
O8ets &X 95,000
— Al & | 500,000& * 19JHEH=S * 10S 95,000
OUIFXotE Rl (HEZLS-EDH) 3,700
—EgZY =324 1,000,000& * 3CH 3,000
—&IIAIE (B & Bt) 700,000 * 14 700
Os8XotHE SAZ(BEL+Z2H) 1,500
—dZ 2 =24 500,000& * 2CH 1,000
—HIIAIE (& ) 500,000& * 14 500
OtF+HEY S22 (BEZLSZTIH) 3,700
—E€Z 2 ==52H 1,000,000& * 3CH 3,000
—HMIIAIE (& ) 700,000& * 14 700
Ogzud2As L Jtgs &I g2 10,000
— =2/l 10,000,000& * 14l 10,000




fA AL
o
7T
aQ

HH: T2 SN(+SLYDE/ER)
S AE 2 SHECE ALY (el &2
_ _ _ Muo
SN B SRA(SIH) - MBAY - BAS 0l &k 24 e HlnE2
03 Al&=THYl 17,400 16,000 1,400
ONE SHECRAIY BLTA 600
— AR 200,002 * 500n * 0.6/100 600
ONE S0EE2E7 HHIZAl 600
— A0 200,002 * 500n * 0.6/100 600
OAIDHR EFHHM T2 A 1,200
— A0l 1,000,008 * 200a * 0.6/100 1,200
ONE=S ZHIUxt 15,000
—wse 500,0002 * 20CH 10,000
—gz 500,0002 * 10CH 5,000
405 &+ SH 112,500 0 112,500
01 RMUSEH S| 112,500 0 112,500
o2& T DA 55,000,0002! * 2CH 110,000
OSE2E4S 057 (AR4])
500,0002! * 5CH 2,500
NEETII=EIVE =) 2,300,000 1,600,000 700,000
= 1,150,000
Al 1,150,000
401 AIEHIL2CH] 2,300,000 1,600,000 700,000
= 1,150,000
Al 1,150,000
01 Al 2,286,200 1,590,400 695,800
ONY-SHT2 & TRTA
1,000,008 * 300m * 99.4/100 298,200
= 150,000
Al 148,200
OS2E2 & TZTA
,000,0008 * 200m * 99.4/100 198,800
= 100,000
Al 98,800
ONZ-IEER & ERTA
1,000,0008 * 200m * 99.4/100 198,800
= 100,000
Al 98,800
OFHBT2 = THIA
1,000,0008 * 200m * 99.4/100 198,800
= 100,000
Al 98,800
OZNETR & THTA
,000,0008 * 200m * 99.4/100 198,800
= 100,000
Al 98,800
OUABEE & TZTA
1,000,0008 * 200m * 99.4/100 198,800
= 100,000
Al 98,800




fA AL
o
7T
aQ

PSRN _'.:_; A& (E=s5LNE/E2)
S AE U SHEER AIY (9l & 2
SA BB .S (BH) - MBEAY - B2 Of) & 04 gggf; SmE=L
OHE~EaE 2 & ZLADA
1,000,000 * 200m * 99.4/100 198,800
== 100,000
Al 98,800
OFREZ & ZEZA
1,000,000 * 300m * 99.4/100 298,200
= 150,000
Al 148,200
OMBER & TETA
1,000,000 = 300m * 99.4/100 298,200
= 150,000
Al 148,200
OLU~KRXER & LA DA
1,000,000 * 200m * 99.4/100 198,800
o= 100,000
Al 98,800
03 Al 20t 13,800 9,600 4,200
ObNU~SRAT R 3 LI A}
1,000,000& * 300m * 0.6/100 1,800
OsclE==2 & LEZA
1,000,000 * 200m * 0.6/100 1,200
OANE~0|EHE2 & ZEZA
1,000,000 * 200m * 0.6/100 1,200
OFHZT2 & THIA
1,000,000 = 200m * 0.6/100 1,200
OZAEIZ &8 LA ZA}
1,000,000 = 200m * 0.6/100 1,200
OUS T2 & LEAZA}
1,000,000 * 200m * 0.6/100 1,200
OHE-HHES = BRZA
1,000,000 * 200m * 0.6/100 1,200
OHREZ & EAEZA
1,000,000 = 300m * 0.6/100 1,800
OAtHEZ &8 LA ZA}
1,000,000& * 300m * 0.6/100 1,800
ORLA~RRER & ZEIA
1,000,000 * 200m * 0.6/100 1,200
WEAMIF2RINA(Z) 150,000 150,000 0
Z 75,000
Al 75,000
401 Al&HIZL 20| 150,000 150,000 0
Z 75,000
Al 75,000
01 Al&H| 148,950 149,100 A 150
OS48a=JY WSAMIRSZIMEZA
1,000,000 * 50m = 99.3/100 49,650
Z 25,000
Al 24,650




SN

ral=n
Y C2 N BA(L5UDE/E2)
SR A € SHEZZE AY (ctel: &
_ _ _ Muo
SN B SRA(SIH) - MBAY - BAS 0l &k 24 e HlnE2
Ox=3E0IAYd WSMIRSRIHLSA
1,000,000 * 50m * 99.3/100 49,650
& 25,000
Al 24,650
OS&WSY WSAIRESRINLESAL
1,000,000 * 50m = 99.3/100 49,650
= 25,000
Al 24,650
03 Al =204l 1,050 900 150
OS =Y WSANIAXESZINLESAL
1,000,000 * 50m = 0.7/100 350
O==&3HI4AY WESMIZ2RINESA
1,000,000& * 50m = 0.7/100 350
OSAW3Y NSADXSRINESAL
1,000,000 * 50m * 0.7/100 350
EEE2IREIME(R) 1,000,000 1,500,000 A500,000
= 500,000
Al 500,000
401 A EHIL 204 1,000,000 1,500,000 500,000
= 500,000
Al 500,000
01 Al&HI 994,000 1,491,000 A 497,000
O&el~SA8T 23S At
1,000,000& * 650m * 99.4/100 646, 100
= 325,000
Al 321,100
OABETZ HEINLBA
1,000,000& * 350m * 99.4/100 347,900
= 175,000
Al 172,900
03 AIE=20bl 6,000 9,000 A 3,000
O&el~S& T HH 23t S At
1,000,000& * 650m * 0.6/100 3,900
OUS T HdEIHSSA
1,000,000 * 350m * 0.6/100 2,100
CZ2EE 2l 42,000 39,000 3,000
SR M4 2te| 18,000 18,000 0
401 A EHIL 2048 18,000 18,000 0
03 AIE=20itl 18,000 18,000 0
O=FMs =& =22(E2 L 7H) 18,000
—dE=EE 400,000& * 202 Xl 8,000
—dA=E 500,000& = 20E X| 10,000
SEHY Fl 24,000 21,000 3,000
101 Q14| 21,000 21,000 0
04 JIZHMIZ2XEE 21,000 21,000 0
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SA: AL D
M C2 SXBA(4LLDE/TR)
ool S2AE B (69 &)
_ _ _ Muo
SAN-ZH-SA(FA) - NFAY - BES Ol &+ 9K Ofl At ot HwsZ
OB AE L o=
35,0002 * 3% * 2002 21,000
401 AlHIL 20| 3,000 0 3,000
01 Al&l 3,000 0 3,000
DENF HIOIEALTT S HATY AL 3,000
— R A 3,000,0008 * 14! 3,000
Ags pel 300,800 273,344 27,456
Ags e 300,800 273,344 27,456
307 2120l H 250,000 222,544 27,456
05 PIZteIE2 250,000 222,544 27,456
SEEEEIT 20,833,333 * 128 250,000
403 XEXISHHIS XH2 0/ & 50,800 50,800 0
02 BJI2HS 0 CH & CH 8 AF2 bl 50,800 50,800 0
oY= JJIBARGS 50,800
—~HAAANMZS B4+ 25,000,002 * 2HA 50,000
—ddoz 10,0002 * 43| * 22 800
SENL (SPHLSL/5Y - 5E) 16,667,506 10,845,480 5,822,026
=2 3,600
=l 10,270,872
| 583,000
= 1,524,821
Al 4,285,213
CISBIEE ST 7,584,426 6,065, 080 1,519,346
=2 3,600
=l 3,922,672
| 583,000
= 707,821
7 Al 2,367,133
SCINPERSERS 786,280 816,580 30,300
201 LByl 11,280 42,080 30,800
02 ZZ2H| 11,280 42,080 30,800
OYP BT 568S LVAA 242
120,0008 * 944! 11,280
401 AEHIYLS U] 500,000 504,500 A4,500
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